
Analiza odgovora

Ljetni rok 2011./2012. - Engleski jezik (A) - slušanje, učenici gimnazija

Pitanje Odgovori Status odgovora Broj kandidata Postotak Q1 % Q2 % Q3 % Q4 %

1 - Nepoznato 4 0,04 0 0 50 50

1 - Neodgovoreno 5 0,06 60 40 0 0

1 A Netočan odgovor 151 1,68 75 15 8 2

1 A;D;E Neispravan odgovor 1 0,01 100 0 0 0

1 A;D;E;G Neispravan odgovor 1 0,01 100 0 0 0

1 A;G Neispravan odgovor 1 0,01 100 0 0 0

1 B Netočan odgovor 3 0,03 33 0 0 67

1 C Netočan odgovor 7 0,08 86 14 0 0

1 D Netočan odgovor 313 3,48 39 27 22 13

1 E Netočan odgovor 1045 11,63 37 29 21 13

1 E;G Neispravan odgovor 3 0,03 0 100 0 0

1 F Netočan odgovor 6 0,07 100 0 0 0

1 G Točan odgovor 7417 82,55 21 25 26 28

1 H Netočan odgovor 28 0,31 75 7 14 4

2 - Nepoznato 4 0,04 0 0 50 50

2 - Neodgovoreno 5 0,06 80 20 0 0

2 A Netočan odgovor 57 0,63 58 26 9 7

2 A;H Neispravan odgovor 1 0,01 0 100 0 0

2 B Netočan odgovor 1615 17,97 40 28 21 11

2 B;D Neispravan odgovor 2 0,02 50 50 0 0

2 B;D;H Neispravan odgovor 1 0,01 0 0 100 0

2 B;G Neispravan odgovor 2 0,02 100 0 0 0

2 B;H Neispravan odgovor 3 0,03 67 33 0 0

2 C Netočan odgovor 8 0,09 63 25 13 0

2 D Netočan odgovor 1021 11,36 39 30 20 10

2 D;H Neispravan odgovor 2 0,02 100 0 0 0

2 E Netočan odgovor 466 5,19 38 24 21 17

2 F Netočan odgovor 7 0,08 71 0 29 0

2 G Netočan odgovor 31 0,35 71 19 6 3

2 H Točan odgovor 5760 64,11 16 23 28 33

3 - Nepoznato 4 0,04 0 0 50 50

3 - Neodgovoreno 11 0,12 64 18 9 9

3 A Netočan odgovor 401 4,46 67 22 10 2

3 A;E Neispravan odgovor 1 0,01 100 0 0 0

3 A;F Neispravan odgovor 1 0,01 100 0 0 0

3 B Netočan odgovor 27 0,3 70 19 7 4

3 C Netočan odgovor 42 0,47 55 21 14 10

3 C;D Neispravan odgovor 1 0,01 100 0 0 0

3 D Točan odgovor 1749 19,47 8 15 27 50

3 E Netočan odgovor 4866 54,16 24 27 27 22

3 F Netočan odgovor 73 0,81 48 32 18 3

3 G Netočan odgovor 327 3,64 36 32 20 12

3 H Netočan odgovor 1482 16,49 31 30 23 15

4 - Nepoznato 4 0,04 0 0 50 50

4 - Neodgovoreno 3 0,03 100 0 0 0

4 A Netočan odgovor 104 1,16 50 31 13 6

4 A;C Neispravan odgovor 1 0,01 0 100 0 0

4 A;C;F;H Neispravan odgovor 1 0,01 100 0 0 0

4 B Netočan odgovor 1012 11,26 39 27 21 12

4 C Točan odgovor 7357 81,88 21 25 26 28

4 C;F Neispravan odgovor 2 0,02 50 0 50 0

4 C;H Neispravan odgovor 1 0,01 100 0 0 0



4 D Netočan odgovor 45 0,5 38 31 22 9

4 E Netočan odgovor 12 0,13 75 8 8 8

4 F Netočan odgovor 402 4,47 52 26 15 6

4 G Netočan odgovor 9 0,1 89 11 0 0

4 H Netočan odgovor 32 0,36 66 25 3 6

5 - Nepoznato 4 0,04 0 0 50 50

5 - Neodgovoreno 6 0,07 83 17 0 0

5 A Točan odgovor 6361 70,8 14 24 29 33

5 A;F Neispravan odgovor 2 0,02 50 50 0 0

5 B Netočan odgovor 25 0,28 52 32 4 12

5 C Netočan odgovor 23 0,26 70 26 4 0

5 C;G Neispravan odgovor 1 0,01 100 0 0 0

5 D Netočan odgovor 985 10,96 42 31 19 8

5 D;F Neispravan odgovor 3 0,03 33 67 0 0

5 E Netočan odgovor 49 0,55 59 31 8 2

5 F Netočan odgovor 1028 11,44 55 26 14 6

5 G Netočan odgovor 320 3,56 58 25 12 4

5 H Netočan odgovor 178 1,98 70 21 5 3

6 - Nepoznato 4 0,04 0 0 50 50

6 - Neodgovoreno 6 0,07 33 17 50 0

6 A Netočan odgovor 4775 53,14 32 29 24 14

6 A;C Neispravan odgovor 2 0,02 50 0 50 0

6 B Netočan odgovor 577 6,42 40 29 22 8

6 C Točan odgovor 3621 40,3 13 19 26 42

7 - Nepoznato 4 0,04 0 0 50 50

7 - Neodgovoreno 6 0,07 67 33 0 0

7 A Netočan odgovor 1125 12,52 48 29 16 7

7 A;C Neispravan odgovor 1 0,01 0 0 100 0

7 B Točan odgovor 7344 81,74 20 24 27 29

7 C Netočan odgovor 505 5,62 49 29 15 8

8 - Nepoznato 4 0,04 0 0 50 50

8 - Neodgovoreno 5 0,06 40 40 20 0

8 A Točan odgovor 7251 80,7 18 25 28 30

8 A;C Neispravan odgovor 2 0,02 50 50 0 0

8 B Netočan odgovor 813 9,05 55 27 14 5

8 C Netočan odgovor 910 10,13 57 26 13 4

9 - Nepoznato 4 0,04 0 0 50 50

9 - Neodgovoreno 4 0,04 100 0 0 0

9 A Netočan odgovor 1487 16,55 44 26 19 10

9 B Netočan odgovor 2280 25,38 42 32 19 7

9 C Točan odgovor 5210 57,99 12 22 29 37

10 - Nepoznato 4 0,04 0 0 50 50

10 - Neodgovoreno 3 0,03 67 0 0 33

10 A Netočan odgovor 2708 30,14 37 29 23 10

10 A;C Neispravan odgovor 1 0,01 100 0 0 0

10 B Točan odgovor 6135 68,28 19 23 26 32

10 C Netočan odgovor 134 1,49 61 25 10 4

11 - Nepoznato 4 0,04 0 0 50 50

11 - Neodgovoreno 2 0,02 100 0 0 0

11 A Netočan odgovor 77 0,86 58 22 10 9

11 B Netočan odgovor 170 1,89 56 23 14 8

11 C Točan odgovor 8732 97,18 24 25 25 25

12 - Nepoznato 4 0,04 0 0 50 50

12 - Neodgovoreno 3 0,03 67 33 0 0

12 A Netočan odgovor 124 1,38 52 30 13 5

12 A;C Neispravan odgovor 1 0,01 0 100 0 0



12 B Točan odgovor 7987 88,89 21 25 26 28

12 B;C Neispravan odgovor 3 0,03 67 33 0 0

12 C Netočan odgovor 863 9,6 58 24 14 4

13 - Nepoznato 4 0,04 0 0 50 50

13 - Neodgovoreno 6 0,07 33 67 0 0

13 A Točan odgovor 7666 85,32 18 25 28 29

13 A;B Neispravan odgovor 1 0,01 100 0 0 0

13 B Netočan odgovor 1101 12,25 65 24 9 2

13 C Netočan odgovor 207 2,3 68 21 9 2

14 - Nepoznato 4 0,04 0 0 50 50

14 - Neodgovoreno 2 0,02 100 0 0 0

14 A Netočan odgovor 1032 11,49 44 25 21 10

14 A;B Neispravan odgovor 1 0,01 0 100 0 0

14 A;C Neispravan odgovor 1 0,01 0 100 0 0

14 B Netočan odgovor 197 2,19 59 23 14 5

14 C Točan odgovor 7748 86,23 22 25 26 27

15 - Nepoznato 4 0,04 0 0 50 50

15 - Neodgovoreno 1 0,01 100 0 0 0

15 A Netočan odgovor 279 3,11 67 22 9 3

15 A;B Neispravan odgovor 1 0,01 0 100 0 0

15 B Točan odgovor 8670 96,49 23 25 26 26

15 C Netočan odgovor 30 0,33 73 23 0 3

16 - Nepoznato 4 0,04 0 0 50 50

16 - Neodgovoreno 3 0,03 67 33 0 0

16 A Netočan odgovor 844 9,39 43 31 17 9

16 A;C Neispravan odgovor 1 0,01 100 0 0 0

16 B Netočan odgovor 113 1,26 65 21 9 4

16 B;C Neispravan odgovor 1 0,01 100 0 0 0

16 C Točan odgovor 8019 89,25 23 24 26 27

17 - Nepoznato 4 0,04 0 0 50 50

17 - Neodgovoreno 2 0,02 100 0 0 0

17 A Netočan odgovor 128 1,42 45 31 15 9

17 B Netočan odgovor 845 9,4 55 26 13 5

17 B;C Neispravan odgovor 2 0,02 50 50 0 0

17 C Točan odgovor 8004 89,08 21 25 26 27

18 - Nepoznato 4 0,04 0 0 50 50

18 - Neodgovoreno 6 0,07 83 17 0 0

18 A Netočan odgovor 980 10,91 51 29 14 6

18 A;C Neispravan odgovor 1 0,01 100 0 0 0

18 B Točan odgovor 7788 86,68 21 25 27 28

18 C Netočan odgovor 206 2,29 65 21 10 3

19 - Nepoznato 4 0,04 0 0 50 50

19 - Neodgovoreno 7 0,08 29 57 0 14

19 A Točan odgovor 7782 86,61 22 26 26 26

19 A;C Neispravan odgovor 2 0,02 50 0 0 50

19 B Netočan odgovor 278 3,09 48 24 18 10

19 C Netočan odgovor 912 10,15 47 20 16 17

20 - Nepoznato 4 0,04 0 0 50 50

20 - Neodgovoreno 4 0,04 50 0 50 0

20 A Netočan odgovor 418 4,65 60 20 14 6

20 B Netočan odgovor 2448 27,25 33 27 24 16

20 B;C Neispravan odgovor 1 0,01 0 100 0 0

20 C Točan odgovor 6110 68 19 25 26 30

21 - Nepoznato 4 0,04 0 0 50 50

21 - Neodgovoreno 3 0,03 67 0 0 33

21 A Točan odgovor 6039 67,21 25 25 25 26



21 B Netočan odgovor 598 6,66 37 26 22 15

21 C Netočan odgovor 2341 26,05 22 26 26 26

22 - Nepoznato 4 0,04 0 0 50 50

22 - Neodgovoreno 1 0,01 100 0 0 0

22 A Točan odgovor 8262 91,95 21 25 26 27

22 B Netočan odgovor 643 7,16 66 23 10 2

22 C Netočan odgovor 75 0,83 79 15 7 0

23 - Nepoznato 4 0,04 0 0 50 50

23 - Neodgovoreno 4 0,04 50 25 0 25

23 A Netočan odgovor 4637 51,61 28 28 26 19

23 A;C Neispravan odgovor 1 0,01 100 0 0 0

23 B Netočan odgovor 891 9,92 40 30 19 11

23 C Točan odgovor 3448 38,38 17 20 26 37

24 - Nepoznato 4 0,04 0 0 50 50

24 - Neodgovoreno 2 0,02 100 0 0 0

24 A Netočan odgovor 397 4,42 58 25 13 5

24 B Netočan odgovor 555 6,18 53 26 17 5

24 B;C Neispravan odgovor 1 0,01 100 0 0 0

24 C Točan odgovor 8026 89,33 21 25 26 27

25 - Nepoznato 4 0,04 0 0 50 50

25 - Neodgovoreno 6 0,07 67 33 0 0

25 A Netočan odgovor 2449 27,26 23 29 29 19

25 B Točan odgovor 6375 70,95 25 24 24 28

25 C Netočan odgovor 151 1,68 48 23 20 9


